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2 Integrate the following :

2 (a)

(b)

©

(b)

3  @
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©

If the demand function is p=20-2x and supply

function is p =54+ 2. then ﬁnd consumer's surplus and
producer surplus '

Find the area of a -i'e_gion bounded by a ciirve y=x2

and a line y=x+2 using integration.

~ Solve the following equations by, Crémer's rule :

¢)) 3x+y'= 5, “2x+5y_=—1
@ =x+2y=8, 3x+4y=ld

1 =10 |
It A{O 1 -1} then show that 4°-34%+24=21,
1.0 1 B | |

where I is a~3®3identity matrix. e
OR -

Solve the following equatmns usmg matnx inversion
method :

x-y+z=3, 2x+y_¥z=5, dx—y-z=T

' Find the value of the following. determinant :
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Define : ..
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(2) * Objective function

3 Solution

(4) Feasible solution _

() Optimum feasible solution.

Solve following transportation problem using

(i) North West Corner method and (if) Matrix Minima

method : .
T [T T [IVV [Supph
4 3 7 |9 |10 [20
B 3 [T {2 [6 [9 {30
C 8 1215 |30 |4 |17
D 3 [2 [10 (13 (1713
Demand {408 [7 [19 )
~OR

Explain ‘Vogel's Approgimration method with example.

Solve the following KP problem using Simplex method :

Maximize Z =%x~+7y

Subject t\2x'+4y < 48; 4x+2y<60; x,y> 0 _

Write a shoi-t_ note on "Sinking‘Fund".-
Cost of building a new house was Rs. 5,00,000 before

4 years. The building cost increases at 9% every year.
Find the present cost of building the house.

Find the sum of the following series :
2-6+18-54+.......~39366

The common ratio of a G.P. is 2 and the sum of its

_ first 8 terms is 765. Find its first term.

OR
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5 (a) What is an aggregate amount for Rs. 6000 at 12% 5

rate of compound interest for 2 years if the interest is :
compound every six months ?

®) Write a short note on "Annuity". = 5
(© TFind three number in G.P. such that their product 5

is 216 and their sum is 26.

@ Find 1+3+7+15+....... upto n terms. ' 5
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